EDo()NL R
d\/"—’k\jz Séﬂ):—@
3‘? S(‘&fa) = 9,10 {Mj
k.éﬂ_—‘-? S%ﬂ) = U(,EJ)‘-‘-Z(J@ [&1]

o.lo (M3

S;Cé’p)_;[j(éﬂ)“% 80&7




Ecuaciones 07 abril 2014.gwb - 2/6 - 07 abr 2014 08:50:34

e

OQV _[JCUZ-’:‘:’

M= Ev° N =1 MU=







Ecuaciones 07 abril 2014.gwb - 4/6 - 07 abr 2014 08:59:28

I

&éz 4

7 b 4aze) ;
{7~
£+7{;:,0)

Jo 1| K&
j J vl a)—‘ @
S HﬂL’( {7-1' >80 CzJ
%\Cfo}r_@
O_-EI:L (1:(9)4&—-* =G,

ML(Z)B): )CCL SU’) O’Hq+q£b LM“
L_‘@f‘?)__g 1 Dioo?
—=

SE)= 22 o keed)

410050 Lok oo o))
Sl)= 0550y 4

)

S

0.04F93 3¢
o.g85

S( £.)= 253







Ecuaciones 07 abril 2014.gwb - 6/6 - 07 abr 2014 09:06:39

k
)=

| /- ¢~/
U('é)ﬂ 2 +z"lEb # W(L
/
U(é#)"g@ — L[eE- ,)_f_,‘
(

Jo=—5 ' I(f)- 4.6 b+ 0,005
/

20 20 T o 9=
9. 16t + ©. 005

30“—*__7-5*““ 20(%/@%# 0. aa5>:(

o€
A A 1629
o) | /ol
< /o
£ 1(%) )
L o) z
Pyt
%o(ioige 7 mL(m)
Z[ M /20 AN
0. 00115
2800 | (<00
OL(BSJ z-gg)
183/ ¢ = 0.9

]Lh/?s N = 0.00 Qﬁ/




